FODLE

INSTRUMENT PROCESSING SHEET

Agency CO{UM\O tCL CO()H‘LK.J(

NOV 21 2017

siNn 30 -1 77

Alcohol Testing Program

Date !nq /2‘3/ (7

Date Out il{&d! 11

XfShip Qp/u OH/D Qcmi Otk

Flow Calibration Performed By

\
Intake Performed By%@ /_ | Quality Checks  Performed By ('
O Registration B & LlabTemp°C_JA .3 — 8" Flow Calibration N/A
A Annual B3 Breath Tube Screen Q Flow Calibration Complete
O Return from CMI & Replace External O-Rings Flow Column #
O  Return from Enforcement & Instrument Set Up Verified O 5L/min-17mm
Electronics & R-value 203 O 15L/min-53mm
Q other & Flow Verification (L/s) i Q 30L/min-103mm
Visual Inspection: _ Flow Column #_ATPL0S O R-Value
___é_ Case ol Handle 32mm _14¥ (.139-.169) | L Post Calibration Verification (L/s)
_O4 Dry Gas Holder Ok Feet 36mm_ |75 (.156-.190) Flow Column # _
Dk_Keyboard/Plug Ol Back/Plugs 53mm _24° (228 -.278) 32mm (.139 -.169)
S Screws tight 744 Breath Hose 103mm _5¢7 __ (.447 - .547) 36mm (.156 - .190)
& Barometric Pressure Check 53mm (.228 - .278)
Other Equipment: Gauge ID # I8 12 & 103mm (.447 - .547)
O Power cord & Stability Checks Maintenance Performed By
Q  Printer Cable ‘ Simulator | Serial # Lot #/Exp 0O Battery Replacement
& Other ﬁmé\‘\a B@cx 0.05 X\T01D O Dry Gas Regulator Replacement
v GX3s (25l iq O Breath Tube Replacement
0.08 Daien € Q Other
Notes: DR Q74 |25\ 4 Quality Checks Cont. Performed By Z _
0.20 2 Jul7e7¢ | | Simulator Temperatures °C
1> (24 (@ || External Digital Therm. ID#: 3¢ &
0.08 DGS N/A Ao 19 S & 34°C+-2 Serial#: G 257
[ he 8 34°C+-2 Serial#: D«1271
@ 34°C+-.2 Serial#: S0(s2%
Calibration Adjustment Performed By _ /2 Department Inspection Performed By _ /%
O Calibration Adjustment N/A = & Barometric Pressure 1028 Gauge
& Calibration Adjustment Complete ID# _XU2( /02| Instrument
Barometric Pressure Gauge ¢ ID#_ 25437
Simulator Serial Number | Lot Number | Expiration Mouth Alcohol Solution Lot # __ .Jcib-C
0.000 I N/A N/A Acetone Stock Solution Lot # ___ 20i7- A4
0.040 S ulH 1620 : 0\ 2 .‘1 \g gigtouiator nge:? (I;umber
g;gg % 2534 L L:O\ M1 4 Interferent (A0
: 0 |6\ \76a06 .1!;4[& 0.05 C‘ﬂ?\“ﬂ%‘f
0.300 PRILIS 110 slis ] 0.08 2 1279
| 0.080 DGS | N/A 115170%08%| 8/5] 14 0.20 D123
Xl Post Calibration Adjustment Stability Checks
Simulator Serial Number | Lot Number | Expiration Attachments
0.05 G235 20111 12514 8 rorma1 B calibration Adjustment
0.08 D14 201776 )25 [ & Pre-Stability Tests & Post-Stability Tests
0.20 D25 20701C a4 O Flow Calibration & OtherFevn ¢
008065 | N/A Abrelos | Maaliy

Notes/Suggested Service:

i

_m"""ﬂ" \51«.! e - @

(‘,\’/’-}PJ,‘ 7

I '~ c “\ (_".—-—— ',-\
_ORQc v @Ym 11/8

@" Instrument Complies with Chapter 11D-8, FAC
O  Instrument Does Not Comply with Chapter 11D-8, FAC

A Return to/Place into Evidentiary Use
O Remain Out of Evidentiary Use

@’ Conduct an Agency Inspection Before Evidentiary Use

Quality Control Review i

u’im/?

Date

Revised May 2017
Di-1PS2017R1
FDLE/ATP -048
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COLUMBIA COUNTY SO
Intoxilyzer - Alcohol Analyzer
Model 8000

11/20/2017 08:38:46

Auto Calibration
EHEEE 3um SiSSE

Solution = 0.000 g/210L or 0.0000 mg/1,

Sample % Abs (% Abs Ref)
Sample #1 0.0990 (-0.0370)
Sample #2 0..1220 (0.0190)
Sample #3 0.0800 (0.0610)
Sample #4 0.0730 (0.0830)
Avg % Abs 0.0917 (0.0543)

STD DEV 0.0265 (0.0325)
REL STD DEV 28.911 (59.847)

Solution = 0.040 g/210L or 0.1905 mg/l,
Sample % Abs (% Abs Ref)
Sample #1 0.7680 (-0.0150)
Sample #2 0.7740 (-0.0130)
Sample #3 0. 7630 (0.0060)
Sample #4 0.7740 (0.0570)

Avg % Abs 0: 7703 (0.0167)

STD DEV 0.0064 (0.0362)

REL STD DEV 0.824 (217.191)

Solution = 0.100 g/210L or 0.4762 mg/1l,
Sample % Abs (% Abs Ref)
Sample #1 1.7900 (-0.0070)
Sample #2 1.8000 (0.0140)
Sample #3 1.8520 (0.0020)
Sample #4 1.8280 (0.0180)

Avg % Abs 1.8267 (0.0113)

STD DEV 0.0260 (0.0083)

REL STD DEV 1.425 (73.471)
Solution = 0.200 g/210L or 0.9524 mg/l,
Sample % Abs (5 Abs Ref)
Sample #1 3.5000 (-0.0170)
Sample #2 3.5140 (0.0020)
Sample #3 3.5080 (-0.0070)
Sample #4 3.4950 (0.0270)

Avg % Abs 3.5087 (0.0073)

STD DEV 0.0097 (0.0176)

REL STD DEV 01 297 (240.222)

Solution = 0. 300 g/210L or 1.4286 mg/1,
Sample % Abs (% Abs Ref)
Sample #1 5.0780 (-0.0490)
Sample #2 5.1010 (0.0220)
Sample #3 5.0980 (0.0080)
Sample #4 5.1360 (0.0190)
Avg % Abs 5.1120 (0.0163)
STD DEV 0.0208 (0.0074)
REL STD DEV 0.407 (45.129)

SN 80-000777

gofaﬂ777

Coadist
Ca\l acjn’t .
Jont

" 9um . 3 T
Samples = 4, Discarded = 1
% Abs (% Abs Ref)
0.2020 (-0.0290)
0.1800 (0.0460)
0.1640 (0.0640)
0.1780 (0.0750)
0.1740 (0.0617)
0.0087 (0.0146)
5.010 (23.741)
Samples = 4, Discarded = 1
% Abs (% Abs Ref)
1.4350 (-0.0190)
1.4660 (-0.0250)
1.4460 (-0.0150)
1.4680 (00110
1.4600 (-0.0097)
0.0122 (0.0186)
0.833 (192.239)
Samples = 4, Discarded = 1
% Abs ($ Abs Ref)
3.3700 (-0.0030)
3.3890 (0.0070)
3.4330 (-0.0130)
3.4500 (-0.0080)
3.4240 (-0.0047)
Q0L (0.0104)
0.919 (223.036)
Samples = 4, Discarded = 1
% Abs (% Abs Ref)
6.4620 (0.0040)
6.4970 (-0.0020)
6.5060 (-0.0020)
65050 (0.0190)
6.5027 (0.0050)
0.0049 (0.0121)
0.076 (242 .487)
Samples = 4, Discarded =1
% Abs (% Abs Ref)
9.2650 (-0.0090)
9.3330 (0.0110)
9.3690 (-0.0020)
9.4100 (-0.0130)
9.3707 (-0.0013)
0.0385 (0.0120)
0.411 (901.041)

l[\?}-(i’]

pg 1 of 2



COLUMBIA COUNTY SO

Intoxilyzer - Alcohol Analyzer

Model 8000 SN 80-000777
11/20/2017 08:38:46

Auto Calibration

i d 3um R
Zero Order Coef -215.96
First Order Coef 2669.61
Second Order Coef 32.39
Act Fit Residual
(g/210L) (g/210L) (g/210L)
0.000 0.001 -0.0006
0.040 0.039 0.0009
0..:1.0:0 0.100 -0.0001
0.200 0.200 -0.0004
0.300 0.300 0.0002
<< 3um >>>>>

Solution = 0.080 g/210L or 0.3810 mg/l,

Sample
Sample #1 3191.00
Sample #2 3194.00
Sample #3 3259.00
Sample #4 3292.00
Avg 3248.3333
STD DEV 49,8631
REL STD DEV 1.535
H20 adjust (mg/l*10k) 561

Barometric Pressure = 1020

& o-0a 7T

Ll G

*hkhkkhkkxkhkxk k5 dkx X AXCAT TBRATION SUCCESSFUL** % * K,k k Kk Kk h k& %%

( ql ac
“ —[ ]
leh é;
pg 2 of 2
CECET 9um b o e
-214 .61
1399.63
15.64
Act Fit Residual
(g/210L) {2 10L,) (g/210L)
0.000 90 {08 . -0.0006
0.040 0029 0.0009
0.100 0.100 0.0000
0.200 0.201 -0.0005
0.300 0.300 0.0002
<< Sum >>>>>
Samples = 4, Discarded = 1

3229.00

3261.00

3249.00

3297.00

3269.0000

24.9800

0.764

540

R
3N
\\J
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